(2) (b) Thirteen thousand, four hundred and fifty-six
(c) Fifty-one thousand, nine hundred and eighty
(d) Seven hundred and twenty-six thousand, and thirty-four

(3) (a) 435336
(b) 705268
(c) 900070
(d) 300853

(4) 700000 + 40000 + 6000 + 100 +20 + 2 = 746122

(5) 802351

(a) The digit is in the Hundred Thousands place

and it represents 800000 .

(b) The digit is in the Ten Thousands place and it

represents( 0 |

(c) The digit is in the Thousands place and it
represents .

(d) The digit @ is in the Hundreds place and it

represents .

(e) The digit( 5 Jis in the Tens place and it represents

(50).

(f) The digit l 1 )isin the Ones place and it represents

(1)
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Thé smalle;'- number is 489 020.
489020 < 532399.
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The greater number is 902 577.
902577 > 618450.
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(1) (a) 148721 < 178021
(b) 67490 < 220393
(c) 945207 < 945308

(2) (a) 886404
(b) 272543
(c) 886404 > 606383 > 518383 > 327604 > 272543
(d) 272543 < 327604 < 518383 < 606383 < 886 404
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